log AL luminance difference | —
threshold Lg=6.3cd/nf

+ 04 265 A 6,3cd/f pot4

——t———— k=== —
5 1 5 x=logL

log AL luminance difference
threshold

+ 02 265 B 6,3cd/f pot4

Lg=6.3cd/nf

e = e —
-2 -1 0 1 2 X=logL

log AL luminance difference
threshold

+ AD 26s G 6,3cd/; pot4

Lg=6.3cd/nf

b— e A —
-2 -1 0 1 2 X=logL

log AL luminance difference | —
threshold Lg=6.3cd/nf

+ 02 0,1s Y 6,3cd/f) pot4

= e —
-2 -1 0 1 2 X=logL

UE450-7N_1

UE450-7N

log AL luminance difference , —
threshold Lg=6.3cd/nf

- 02 26s Y 6,3cd/f) pot4

= e —
-2 -1 0 1 2 x=logL

UE450-2N_1

log AL luminance difference , —
threshold Lg=6.3cd/nf

2+ 02 26s R 6,3cd/f potd

Ve = — ]

-2 -1 0 1 2 X=logL

log AL luminance difference
threshold

+ 04 0,1s A 6,3cd/f pot4

Lg=6.3cd/nf

= e —
-2 -1 0 1 2 X=logL

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ 02 0,1s B 6,3cd/f pot4

= e —
-2 -1 0 1 2 X=logL

UE450-8N_1

log AL luminance difference , —
threshold Lg=6.3cd/nf

+020,1sR 6,3cd/§) pot4

== A == —
2 1 0 1 2 X=logL

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ 04 26&0,1s A 6,3cd/f potd

b—————— == = —
=3 -2 -1 0 1 2 Xx=logL

UE451-3N_1

log AL luminance difference =
threshold Lg=6.3cd/nf

+ 02 26&0,1s B 6,3cd/A pot4

e = o —
-2 -1 0 1 2 X=logL
UE451-5N_1

log AL luminance difference |, —
threshold Lg=6.3cd/nf

2+ AD 26&0,1s G 6,3cd/fy potd

g i
-2 -1 0 1 2 X=logL

UE451-7N_1

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ AD0,1s G 6,3cd/|‘?1 pot4

e p wp—
(')' 1 EleogL

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ 02 26&0,1s Y 6,3cd/f potd

UE451-4N_1

log AL luminance difference |, —
threshold Lg=6.3cd/nf

- 02 26&0,1s R 6,3cd/f potd

S e e
-2 -1 0 1 2 X=logL

log AL luminance difference =
threshold Lg=6,3cd/nf

+ 04 26s A/B 6,3cd/f potd

e o o —
-2 -1 0 1 2 X=logL

UE451-8N_1




